RED 00'(#
R <
<

TAILGATE HINGE FLAG &
ANTENNA MOUNT

(1997-2006 WRANGLER TJ)

INSTALLATION INSTRUCTIONS

CONTENTS

Flag Pole

Flag Pole Mounts

Threaded Blocks

Antenna Mount

M12x1.75 x 22mm Allen Bolts
M12 Flat Washers

M10x1.50 x 40mm Allen Bolts
5/16-18 x 1.5” Allen Bolts
5/16 Flat Washers

M3 Allen Bolts

CISISISISISIGISISIC

TOOLS REQUIRED

T-40 Torx Socket
2.5mm, 8mm, 10mm Allen Keys
Ratchet

SKU # J165222
Edited: 02/10/2022



’
REDROCK:
z

STEP1

Remove the spare tire from the vehicle.Remove (1) T-40 Torx bolt from each tailgate hinge.

STEP 2

Align (1) threaded block to the tailgate hinge, and secure in place using (1) 5/16 x 1.5” Allen bolt and
(1) 5/16 flat washer.



’
REDROCK =
z

STEP 3

Loosely install the flag pole mount to each threaded block using (1) M12 x 22mm Allen bolt and
(1) M12 flat washer per mount. Insert the flag pole, and tighten the flag pole mount hardware.

STEP 4

Secure the antenna mount to the upper flag pole mount using (4) M3 Allen bolts. Tighten until
secure.



’
REDROCK:
z

STEP 5

Use (1) thumb screw to secure a flag to the flag pole.

Installation is now complete.



	J165222 - RedRock 4x4 - Tailgate Hinge Flag & Antenna Mount (97-06 TJ)-01
	J165222 - RedRock 4x4 - Tailgate Hinge Flag & Antenna Mount (97-06 TJ)-02
	J165222 - RedRock 4x4 - Tailgate Hinge Flag & Antenna Mount (97-06 TJ)-03
	J165222 - RedRock 4x4 - Tailgate Hinge Flag & Antenna Mount (97-06 TJ)-04

